GENERAL NOTES

1) Smoke detectors and sprinklers as required per code

2) 1 HR continuous fire rated wall assembly between units
3) Egress windows in bedroom as noted on plan

4) All insulation as required per energy code

5) See structural plans for all framing related information

S)

z g z = z
g 2 2 E 2
5 2 5 - 5
g 2 z g z
3 re § = (4) 5 1/2" LVL FLUSH BEAM
; g Q 8 0] ‘
2 b = (3)51/2" LVL Q =
‘ & % ‘ (2-SPAN CONT FLUSH BEAM) £ ‘ LVL SITS ON TOP ON BEAM
= L
w
|
sits on top
@ EXISTING FOUNDATION L
— — — — — — — — — — = — e e e = o = — = = —_— = oo = = — = = — — = o = — —
ZAONUAANKAUAN AN/ A e i 4 >Z<</ AN AN AN AN S AN A AN/ p
AN
2 \ |
7
7
A
1 Ay
>\ Oé’ A X A X
/ *Q @) &£
@ NEW FOUNDATION - Unit 2 (2) 2x 8 HDR (2) 2x 10 HDR /S > Al p &
— . . | I | L[| — (p A | I | P - | = 41 e L — R — .
I ™ e R R e e e | & @ o o
‘ | ‘ >\ Y
/
|
//< (2) 2 x 6 rough sawn I/ 2 X 6 rough sawn 2 x 6 rough sawn
n
< @ 16" o.c. @ 19" o.c. N @ 19" o.c.
> o Ase a0
& / b@ \
o A AR <& O
(=8N | ‘o‘o
T HUC68 HDR TO POST <
©o
Il / TYP - EACH SIDE |
T ‘;e*’& /@ ”o,,,
N
@ EXISTING BEARING - Unit 1 - ° = | B - - B - - \<°6\ | || L . || I L 1 | ] - -
G- K VXTI T TNTT :
; I (N) OPENING FOR STAR | i
g g I I I 2R
x I MSTC 40 STRAPS RIM TO (N) (3) STUD POST IN (E) WALL g | NI | N \®
x 1 TYP ALL (N) FLOORS, (3) LOCATIONS PER FLOOR % | | (4’)@ I | /‘ ! 3
N
< | N e Mar.
. ﬁ I o) L o) L | L | L | L | L | L J L I I I é:q /(\O 7\6\4)& I I I ? ‘
@ EXISTING BEARING - Unit 2 - - - - - - - % /f’ : T LN Ty A - | | o -
4y, I % ‘
7 1
- - - - - - - - - - - I < =1 I -1 I | | — 1 — 4l — - |k -
A-301
7\ | I I I | ? ‘
" ' " LS50 HANGER EACH SIDE OF DOUBLE 2 x 6 i | | | |
16" TJ1 360'S @ 16" O.C. / / 51/2 LVL W/ (2) 5/16" DIA. x 6" RSS SCREWS @ 12" O.C. /) \
@ EXISTING FOUNDATION : —_—— v SEE SECTION DETAIL 'F' | 2 } N | | 9 N YISO NG AT EZ NP
' TYP @ FLUSH I-JOIST
A
- >
- @ OPEN FOR STAIR I (E) W6 x 25
|4
‘ % DBL 2 x 8 BOX BEAM
|4 | STACK FRAME WALLS
: ABOVE & BELOW ALL FLOORS
1
©
2 4 —
Mt T
o~ (1 uP
g i
(n
1
F EXISTING FOUNDATION B B = = = = = = e ———— - B - - B B
—
\\ —
G NEW FOUNDATION - Unit 2 - - VL LEDGER OVER_. - - B R - B B - -
(2)2x 6 HDR GYP SEE SECTION BOX BEAM DETAIL
TYP UNO
\ |
THIRD FLOOR FRAMING PLAN JOIST BEAR ON (N) WALL
BEARING ON (E) RAFTERS BELOW
(SEE SECTION DETAIL)
|
I N) 2 x 6 WALL BUILT OVER EXISTING ENDWALL LUS2G-Z HANGER @
SPECIAL PERFORATED SHEAR WALL HERE; (BLE)CKX (E) ROOF FUR CONT BRG EXPOSED DECK - TYP UNO
NAIL ET. SHEATHING W/ 8d @ 4" O.C.
@ PANEL EDGES. FASTEN ENDS TO ALIGNED POST
BELOW W/ MSTC66 STRAPS ACROSS RIM @ 3RD FLOOR
DBL P.T. 2 x 8 LEDGER FASTENED TO (N) 2 x 6 @ 16" WALL STUDS |
| W/ (2) 3/8" DIA. x 6 GALV. LAG SCREWS @ 16" O.C.
@ EXISTING FOUNDATION B B - B . B B - . B . - B B
MSTC 40 STRAPS RIM TO (N) (3) STUD POST IN (E) WALL
TYP ALL (N) FLOORS, (3) LOCATIONS PER FLOOR
' WATERPROOF & OVERFRAME K '
DECK BY OTHERS \ B \ N
<2 %4
NEW FOUNDATION - Unit 2 2) 2 x 10 HDR 2 3% PeL 0T
@ 10N - Unit N . (2)2x R 3 DBL 2x12P.T. BM DBL 2x12P.T.BM - - B B
In- === === == -E Bl | Bl | Bl | bl | ol el | e T T Bl | B | = T B | o | [ B | Bl | 1
| CRICKET ROOF
BELOW FOR PITCH
/ E_J ‘ PT2X8@16" o.c. /‘/
LS70 FLUSH SKEWED JOIST 2x12@16"0.C. |9 TEP —— (2) LAG SCREWS TO CORNER POST
FLUSH CONN. TYP ) o | | WHERE LEDGER CANTS
DBL 2 x 12 TAPERED FLUSH BOT BEAM s /@ |
FASTEN W/ (4) 5/16" DIA. X 6" RSS SCREWS alfo o | N o o o | | | ——
TOE SCREWED & / ] / 7
5 W10 x 30 i PT (2 2x 10 Ledger ol EXISTING ROOF BELOW
EXISTING BEARING - Unit COPE TOP & BOT FLANGE W/ A | A L L A | A | A _ =1 — _ - _ _
1/4" SHEAR TAB W/ Al L4 e == L 7 7 SEE FLOOR FRAMING PLAN
(2) 3/4" DIA. A32S BOLTS | n
2x8@ 16" O.C.
5 JOISTS
] CANT LEDGER
TEP OPEN FOR
MSTC 40 STRAPS RIM TO (N) (3) STUD POST IN (E) WALL STAR
TYP ALL (N) FLOORS, (3) LOCATIONS PER FLOOR !
|
@ EXISTING BEARING - Unit 2 < ST TR TN | U | P S A | N | R | ™| A _7 (N) B.W. CONT.
- - - - - A7 X/ V4 />§ Y/ o ~ s B o o B n
- — S 4. — — = — A — - - -
1US2.37/16 HANGER / W
LUS26 HANGER 4 L TYP @ FLUSH I JOIST a DN LUS26 HANGER
a r T ]
(7]
( : )  EXISTING FOUNDATION, \ 1£RpROOF & OVERFRAME — ’/——’. B — — = = — — - LAAFF7ZAYLLLLLL L ////////’/Z - - - o o
DECK BY OTHERS = F w : = I
SLOPE 3
1 af oz 4 |
5 = Fe = 2 x 8 LEDGER FASTENED OVER GYP.
| . g N . " W/ (2) SDWH19600DB
i 2x12@16"0c. || I 16" TJI 360°S @ 16" O.C. , OPEN FOR LAG SCREWS @ 16" INTO STUDS
- 3 =S 5 STAR
TAPER CUT W/ & DBL 2 x 8 BOX BEAM
" N X
10" MIN DEPTH ECe x A STACK FRAME WALLS
[7e T —1 ABOVE & BELOW ALL FLOORS
J L J /
5 s 14 |
4t s :
= [7 = U FRAMING LEGEND
4 L N I /////,  NEW BEARING WALL
A r o ]
_ _ MSTC 40 STRAPS RIM TO (N) (3) STUD POST IN (E) WALL — SO
F EXISTING FOUNDATION _ @ — 1= TYP ALL (N) FLOORS, (3) LOCATIONS PER FLOOR- % | —_— - — — 1 _NEW SHEARWALL
‘ =l= | SANNY S EXIST. BEARING WALL
Al == omomm == HEADER
7é 3l 16" LVL LEDGER
SEE SECTION O rost
! 3/4" FLR SHEATHING - TYP
HZSG HURRICANE CLIP O (2) 2 x 6 HDR — "
TYP UNO @ RAFTER BRG % T 3/4" ROOF DECK SHEATHING - TYP

FOURTH FLOOR FRAMING PLAN

TYP UNO
\
11-1/4" LSL RIM TYP UNO

BOX BEAM DETAIL

.,ﬁ\“‘l,“||f‘”l’,ff# v
W iy,

719117

PLAN
NORTH

Trademark Inc.
FOR PERMIT 07/12/17

33 Turner Road
Portland, ME

Scale:

S
1/4" = 10" 102



Matt
Typewritten Text
7/19/17




